### RESOLUTION OF THE BOARD OF DIRECTORS OF

### THE SANTA BARBARA COUNTY

### AIR POLLUTION CONTROL DISTRICT

IN THE MATTER OF THE	
CLASSIFICATION AND SALARY	
RESOLUTION OF THE SANTA	
BARBARA COUNTY AIR POLLUTION	
CONTROL DISTRICT	

APCD Resolution No	
--------------------	--

## **RECITALS**

WHEREAS, Salary Resolution No. 97-5, as amended, established a Classification and Salary Plan and authorized Position Allocations effective June 19, 1997; and

**WHEREAS,** this Air Pollution Control District Board finds that there is good cause for amending said Resolution No. 97-5; in the manner provided in this Resolution;

# NOW, THEREFORE, IT IS HEREBY RESOLVED, as follows:

1. Resolution No. 97-5, adopted on June 19, 1997, and as subsequently amended, is hereby amended by amending Section 4 (Job Class Table) effective January 1, 2016 as follows:

Section 4. Job Class Table

Position Number	Classification Title	Positions	Current Range	New Range	Approx. Mo. Salary Range	Step Limit	Repr Unit
Number	Title		Number	Number	Salary Range	Lillit	Omt
400/401	PERMIT TECHNICIAN I/II	1.00	5388/5588	5428/5628	3627-4872	A-E	28
410/411	INSPECTION SPECIALIST I/II	2.00	5712/5912	5752/5952	4265-5729	А-Е	28
412	INSPECTION SPECIALIST III	5.00	6112	6152	5208-6331	А-Е	28
435/436	AIR QUALITY ENGINEER I/II	4.00	6022/6222	6062/6262	4979-6689	A-E	28
437	AIR QUALITY ENGINEER III	4.00	6422	6462	6081-7392	А-Е	28
440/441	MONITORING SPECIALIST I/II	1.00	5842/6022	5882/6062	4551-6052	A-E	28

442	MONITORING	2.00	6272	6312	5642-6858	А-Е	28
	SPECIALIST III						
453/454	AIR QUALITY	1.00	5842/6022	5882/6062	4551-6052	A-E	28
	SPECIALIST I/II						
443	AIR QUALITY	2.00	6272	6312	5642-6858	А-Е	28
	SPECIALIST III						
444	EMISSIONS	2.00	6272	6312	5642-6858	А-Е	28
	INVENTORY /						
	PLANNING						
	SPECIALIST III						
446	PUBLIC	1.00	6268	6308	5631-6844	А-Е	28
	INFORMATION AND						
	EDUCATION						
	SPECIALIST						

2. Resolution No. 97-5, adopted on June 19, 1997, and as subsequently amended, is hereby amended by amending Section 4 (Job Class Table) effective January 1, 2017 as follows:

Section 4. Job Class Table

Position Number	Classification Title	Positions	Current Range Number	New Range Number	Approx. Mo. Salary Range	Step Limit	Repr Unit
400/401	PERMIT TECHNICIAN I/II	1.00	5428/5628	5468/5668	3700-4971	A-E	28
410/411	INSPECTION SPECIALIST I/II	2.00	5752/5952	5792/5992	4351-5844	A-E	28
412	INSPECTION SPECIALIST III	5.00	6152	6192	5314-6459	A-E	28
435/436	AIR QUALITY ENGINEER I/II	4.00	6062/6262	6102/6302	5080-6824	A-E	28
437	AIR QUALITY ENGINEER III	4.00	6462	6502	6204-7541	A-E	28
440/441	MONITORING SPECIALIST I/II	1.00	5882/6062	5922/6102	4643-6175	А-Е	28
442	MONITORING SPECIALIST III	2.00	6312	6352	5756-6996	A-E	28
453/454	AIR QUALITY SPECIALIST I/II	1.00	5882/6062	5922/6102	4643-6175	A-E	28
443	AIR QUALITY SPECIALIST III	2.00	6312	6352	5756-6996	A-E	28

//

//

//

//

//

//

//

//

//

//

444	EMISSIONS	2.00	6312	6352	5756-6996	А-Е	28
	INVENTORY /						
	PLANNING						
	SPECIALIST III						
446	PUBLIC	1.00	6308	6348	5744-6982	А-Е	28
	INFORMATION AND						
	EDUCATION						
	SPECIALIST						

3. Except as amended by this Resolution, Resolution No. 97-5, as amended, continues unchanged and in full force and effect.

Page 3 of 4

**PASSED, APPROVED AND ADOPTED** by the Air Pollution Control District Board of the Santa Barbara County, State of California, this 18th day of June, 2015, by the following vote:

Ayes:	
Noes:	
Abstain:	
Absent:	
	SANTA BARBARA COUNTY AIR POLLUTION CONTROL DISTRICT
ATTEST:	ByChair
LOUIS D. VAN MULLEM, JR. Clerk of the Board	
By Deputy	
APPROVED AS TO FORM:	
MICHAEL C. GHIZZONI Santa Barbara County Counsel	
By Deputy	
APPROVED AS TO FORM:	
ROBERT W. GEIS, CPA, CPFO Auditor-Controller	
By Deputy	